BULLETIN OF MATHEMATICAL ANALYSIS AND APPLICATIONS

ISSN: 1821-1291, URL: http://www.bmathaa.org

VOLUME 14 ISSUE 3(2022), PAGES 36-48. HTTPS://DOI.ORG/10.54671/BMAA-2022-3-3

ON BOUNDS OF TOEPLITZ DETERMINANTS FOR A SUBCLASS OF ANALYTIC FUNCTIONS

MUHAMMET KAMALI, ALINA RISKULOVA

ABSTRACT. In the present article, our aim is to investigate the problem of obtaining upper bounds for $|T_2(2)|$, $|T_2(3)|$, $|T_3(2)|$ and $|T_3(1)|$, which are special cases of the symmetric Toeplitz determinant for functions belonging to the $M(\lambda,n)$ subclass.

1. INTRODUCTION

Let A denote the family of normalized analytic functions in the open unit disk $\Delta = \{z \in C : |z| < 1\}$ of the form:

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (z \in \Delta)$$

$$\tag{1.1}$$

and S be the subclass of A consisting of all univalent functions in Δ .

Let f be analytic in Δ and be given by (1.1). Then a function f is starlike and convex, if and only if

$$Re\left\{ \frac{zf^{'}(z)}{f(z)} \right\} > 0, \ Re\left\{ 1 + \frac{zf^{''}(z)}{f^{'}(z)} \right\} > 0.$$

We denote the class of starlike functions by S^* and convex functions by C, respectively.

For $f \in A, n \in \mathbb{N} = \{0,1,2,,3,\ldots\}$, the operator $D^n f$ is defined by $D^n : A \to A$ [13]

$$D^{0}f\left(z\right)=f\left(z\right)$$

$$D^{n+1}f\left(z\right)=z\left[D^{n}f\left(z\right)\right]^{'},\ \left(z\in\Delta\right).$$

If $f \in A$, $f(z) = z + \sum_{k=2}^{\infty} a_k z^k$, then

$$D^{n} f(z) = z + \sum_{k=2}^{\infty} k^{n} a_{k} z^{k}, \ (z \in \Delta).$$

 $^{2000\} Mathematics\ Subject\ Classification.\ 30C45,\ 30C50.$

Key words and phrases. Univalent function; starlike function; convex function; Hankel determinant; Toeplitz determinant.

^{©2022} Universiteti i Prishtinës, Prishtinë, Kosovë.

Submitted April 12, 2022. Published August 25, 2022.

Communicated by R.K.Raina.

Let $n \in \mathbb{N} = \{0, 1, 2, 3, ...\}$ and $\lambda \geq 0$. We let D_{λ}^n denote the operator defined by [10]

$$D_{\lambda}^{n}: A \to A,$$

$$D_{\lambda}^{0}f(z) = f(z),$$

$$D_{\lambda}^{1}f(z) = (1 - \lambda) D_{\lambda}^{0}f(z) + \lambda z \left(D_{\lambda}^{0}f(z)\right)' = (1 - \lambda) f(z) + \lambda z f'(z),$$

$$\dots$$

$$D_{\lambda}^{n+1}f(z) = (1 - \lambda) D_{\lambda}^{n}f(z) + \lambda z \left(D_{\lambda}^{n}f(z)\right)'.$$

We observe that D_{λ}^{n} is a linear operator and for

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k,$$

we have [14]

$$D_{\lambda}^{n} f(z) = z + \sum_{k=2}^{\infty} \left[1 + \lambda (k-1) \right]^{n} a_{k} z^{k}$$
 (1.2)

Hankel determinants play important role in several branches of mathematics such as quantum mechanics, image processing, statistics and probability, queueing networks, signal processing and time series analysis to mention a few [18].

The Hankel determinant of f for $q \ge 1$ and $n \ge 1$ was defined by Pommerenke ([2, 3]) as

$$H_{q}(n) = \begin{vmatrix} a_{n} & a_{n+1} & \dots & a_{n+q-1} \\ a_{n+1} & a_{n+2} & \dots & a_{n+q} \\ \vdots & \vdots & \dots & \vdots \\ a_{n+q-1} & a_{n+q} & \dots & a_{n+2q-2} \end{vmatrix}$$
(1.3)

and define the symmetric Toeplitz determinant $T_q(n)$ as follows:

$$T_{q}(n) = \begin{vmatrix} a_{n} & a_{n+1} & \dots & a_{n+q-1} \\ a_{n+1} & a_{n} & \dots & a_{n+q-2} \\ \vdots & \vdots & \dots & \vdots \\ a_{n+q-1} & a_{n+q-2} & \dots & a_{n} \end{vmatrix}.$$
 (1.4)

In particular,

$$H_{2}(1) = \begin{vmatrix} a_{1} & a_{2} \\ a_{2} & a_{3} \end{vmatrix}, \ H_{2}(2) = \begin{vmatrix} a_{2} & a_{3} \\ a_{3} & a_{4} \end{vmatrix}, \ H_{3}(1) = \begin{vmatrix} a_{1} & a_{2} & a_{3} \\ a_{2} & a_{3} & a_{4} \\ a_{3} & a_{4} & a_{5} \end{vmatrix}$$

and

$$T_{2}(2) = \begin{vmatrix} a_{2} & a_{3} \\ a_{3} & a_{2} \end{vmatrix}, T_{2}(3) = \begin{vmatrix} a_{3} & a_{4} \\ a_{4} & a_{3} \end{vmatrix},$$

$$T_{3}(1) = \begin{vmatrix} 1 & a_{2} & a_{3} \\ a_{2} & 1 & a_{2} \\ a_{3} & a_{2} & 1 \end{vmatrix}, T_{3}(2) = \begin{vmatrix} a_{2} & a_{3} & a_{4} \\ a_{3} & a_{2} & a_{3} \\ a_{4} & a_{3} & a_{2} \end{vmatrix}.$$

We note that $H_2(1)$ is the well-known Fekete-Szegö functional [11].

In recent years a lot of papers has been devoted to the estimation of determinants built with using coefficients of functions in the class A or its subclasses ([6, 7, 9, 17, 19, 23, 24]). In the univalent function theory, an extensive focus has been given to estimate the bounds of Hankel matrices. Hankel determinants play a vital role

in different branches and have many applications. The closer relation from the Hankel determinants are the Toeplitz determinants. A Toeplitz determinant can be thought of as an 'upside-down' Hankel determinant, in that Hankel determinant have constant entries along the reverse diagonal, whereas Toeplitz matrices have constant entries along the diagonal. A good summary of the applications of Toeplitz determinant to a wide range of areas of pure and applied mathematics can also be found in [18].

In 2017, Ramachandran et al. [5] studied the problem of obtaining upper bounds for some special types of Toeplitz determinants obtained from the coefficients of functions belonging to a subclass of analytic functions denoted by M_{α} . In 2018, Radhika et al. [25] studied the Toeplitz matrices whose elements are the coefficients of Bazilevic functions and obtained upper bounds for the first four determinants of these Toeplitz matrices. In 2019, Arif et al. [20] studied the Hankel determinant of order three for familier subsets of analytic functions related with sine function. In 2021, Ayinla et al. [22] defined the new subclass of analytic functions denote by $R_n(\alpha,\beta)$ and obtained upper bounds of $T_2(2)$, $T_2(3)$, $T_3(2)$, $T_3(1)$ Toeplitz determinants for functions belonging to this class.

In this study, we will consider the subclass of analytic functions defined as follows:

Definition 1.1. Let $\lambda \geq 0$ and suppose that f(z) is defined by (1.1) if

$$Re\left\{ \frac{z\left(D_{\lambda}^{n}f\left(z\right)\right)^{'}}{D_{\lambda}^{n}f\left(z\right)}\right\} >0,\ \left(z\in\Delta\right).$$

We let the class of these functions be defined by $M(\lambda, n)$.

2. A SET OF LEMMAS

Let P denote the family of all functions p which are analytic in Δ with Rep(z) > 0 and has the following series representation

$$p(z) = 1 + p_1 z + p_2 z^2 + p_3 z^3 + \dots = 1 + \sum_{n=1}^{\infty} p_n z^n \quad (z \in \Delta).$$
 (2.1)

Here p(z) is called the Caratheodory function [1].

Lemma 2.1. Let $p(z) \in P$. Then $|p_n| \le 2$, n = 1, 2, ... [21]

Lemma 2.2. ([15, 16, 20]) The power series for $p(z) = 1 + \sum_{n=1}^{\infty} p_n z^n$. Let the function $p(z) \in P$ be given by (2.1), then

$$2p_2 = p_1^2 + x\left(4 - p_1^2\right) \tag{2.2}$$

for some $x, |x| \leq 1, and$

$$4p_{3} = p_{1}^{3} + 2p_{1}\left(4 - p_{1}^{2}\right)x - p_{1}\left(4 - p_{1}^{2}\right)x^{2} + 2\left(4 - p_{1}^{2}\right)\left(1 - |x|^{2}\right)\eta(2.3)$$
 (2.3)

for some complex value η , $|\eta| \leq 1$.

Lemma 2.3. ([20, 22]) Let $p(z) \in P$ and has the form (2.1), then

$$\left| p_2 - \frac{p_1^2}{2} \right| \le 2 - \frac{|p_1|^2}{2} \tag{2.4}$$

$$|p_{n+2k} - \mu p_n p_k^2| \le 2(1+2\mu) for \mu \in \mathbb{R},$$
 (2.5)

$$|p_{n+k} - \eta p_n p_k| < 2, \quad for 0 \le \eta \le 1,$$
 (2.6)

$$|p_m p_n - p_k p_l| \le 4 \quad form + n = k + l, \tag{2.7}$$

and for complex number λ , we have

$$|p_2 - \lambda p_1^2| \le \max\{2, 2|\lambda - 1|\}.$$
 (2.8)

For the results in (2.4)-(2.7) see [4], see [12] for the inequality (2.8).

Lemma 2.4. [20] Let $p(z) \in P$ and has the form (2.1), then

$$|Jp_1^3 - Kp_1p_2 + Lp_3| \le 2|J| + 2|K - 2J| + 2|J - K + L|.$$
 (2.9)

Proof. Consider the left hand side of (2.8) and rearranging the terms, we have

$$|Jp_1^3 - Kp_1p_2 + Lp_3| \leq |J(p_1^3 - 2p_1p_2 + p_3) - (K - 2J)(p_1p_2 - p_3) + (J - K + L)p_3|$$

$$\leq |J||p_1^3 - 2p_1p_2 + p_3| + |K - 2J||p_1p_2 - p_3| + |p_3||J - K + L|$$

$$\leq 2|J| + 2|K - 2J| + 2|J - K + L|$$

where we have used Lemma 2.1, (2.6) and the result $|p_1^3 - 2p_1p_2 + p_3| \le 2$ due to [16].

3. MAIN RESULTS

Theorem 3.1. If the function $f(z) \in M(\lambda, n)$ and of the form (1.1), then

$$|a_2| \le \frac{2}{(1+\lambda)^n}, \ |a_3| \le \frac{3}{(1+2\lambda)^n}, \ |a_4| \le \frac{4}{(1+3\lambda)^n}.$$

Proof. Let $f \in M(\lambda, n)$. Then, there exists a $p \in P$ such that

$$z\left(D_{\lambda}^{n}f\left(z\right)\right)^{'}=\left(D_{\lambda}^{n}f\left(z\right)\right)p\left(z\right).$$

From this last equation, we write

$$z + 2 (1 + \lambda)^{n} a_{2}z^{2} + 3 (1 + 2\lambda)^{n} a_{3}z^{3} + 4 (1 + 3\lambda)^{n} a_{4}z^{4} + \dots$$

$$= z + [p_{1} + (1 + \lambda)^{n} a_{2}] z^{2} + [p_{2} + (1 + \lambda)^{n} a_{2}p_{1} + (1 + 2\lambda)^{n} a_{3}] z^{3}$$

$$+ [p_{3} + (1 + \lambda)^{n} a_{2}p_{2} + (1 + 2\lambda)^{n} a_{3}p_{1} + (1 + 3\lambda)^{n} a_{4}] z^{4} + \dots$$

Thus, we obtain

$$2(1+\lambda)^n a_2 = p_1 + (1+\lambda)^n a_2 \Rightarrow a_2 = \frac{p_1}{(1+\lambda)^n},$$
(3.1)

$$3(1+2\lambda)^n a_3 = p_2 + (1+\lambda)^n a_2 p_1 + (1+2\lambda)^n a_3 \Rightarrow a_3 = \frac{p_2 + p_1^2}{2(1+2\lambda)^n}, \quad (3.2)$$

and

$$4(1+3\lambda)^n a_4 = p_3 + (1+\lambda)^n a_2 p_2 + (1+2\lambda)^n a_3 p_1 + (1+3\lambda)^n a_4 \Rightarrow$$

$$a_4 = \frac{2p_3 + 3p_1p_2 + p_1^3}{6(1+3\lambda)^n}. (3.3)$$

Applying relation $|p_1| \leq 2$ in (3.1), we obtain

$$|a_2| = \frac{|p_1|}{(1+\lambda)^n} \le \frac{2}{(1+\lambda)^n}.$$
 (3.4)

Applying relation (2.4) in (3.2), we obtain

$$|a_3| = \frac{1}{2(1+2\lambda)^n} |p_2 + p_1^2| = \frac{1}{2(1+2\lambda)^n} |p_2 - \frac{1}{2}p_1^2 + \frac{3}{2}p_1^2|$$

$$\leq \frac{1}{2(1+2\lambda)^n} \left\{ |p_2 - \frac{1}{2}p_1^2| + \left| \frac{3}{2}p_1^2 \right| \right\} \leq \frac{1}{2(1+2\lambda)^n} \left\{ \left(2 - \frac{1}{2}p_1^2\right) + \frac{3}{2}p_1^2 \right\}$$

$$= \frac{1}{2(1+2\lambda)^n} \left\{ 2 + p_1^2 \right\}.$$

Let $\Phi\left(p_{1}\right)=\frac{1}{2\left(1+2\lambda\right)^{n}}\left\{ 2+p_{1}^{2}\right\}$ with $p_{1}\in\left[0,2\right]$. A simple computation leads to

$$\Phi'(p_1) = \frac{1}{2(1+2\lambda)^n} \{2p_1\} = \frac{p_1}{(1+2\lambda)^n} \Rightarrow p_1 = 0.$$

with a simple calculation.

 $\Phi(p_1)$ has a maximum value attained at $p_1 = 2$, also which is

$$|a_3| \le \frac{1}{2(1+2\lambda)^n} \left\{ 2+2^2 \right\} = \frac{3}{(1+2\lambda)^n}.$$
 (3.5)

Applying relation (2.9) in (3.3), we obtain

$$a_4 = \frac{1}{6(1+3\lambda)^n} |p_1^3 + 3p_1p_2 + 2p_3|$$

$$\leq \frac{1}{6(1+3\lambda)^n} \{2|1| + 2|-3-2| + 2|1+3+2|\}$$

$$= \frac{4}{(1+3\lambda)^n}.$$

Theorem 3.2. Let $\lambda \geq 0$, and if the function f(z) be of the form (1.1) belongs to the class $M(\lambda, n)$, then we have the sharp bound

$$|T_2(2)| = |a_3^2 - a_2^2| \le \left| \frac{9}{(1+2\lambda)^{2n}} - \frac{4}{(1+\lambda)^{2n}} \right|.$$
 (3.6)

Proof. In view of (3.1) and (3.2), a simple computation leads to

$$a_3^2 - a_2^2 = \frac{p_2^2}{4(1+2\lambda)^{2n}} + \frac{p_2 p_1^2}{2(1+2\lambda)^{2n}} + \frac{p_1^4}{4(1+2\lambda)^{2n}} - \frac{p_1^2}{(1+\lambda)^{2n}}.$$
 (3.7)

Note that, by Lemma 2.2, we may write $2p_2 = p^2 + x(4 - p^2)$ where without loss of generality we let $0 \le p_1 = p \le 2$. Substituting this into the above equation, we obtain the following quadratic equation in terms of x:

$$a_3^2 - a_2^2 = \frac{\left(4 - p^2\right)^2}{16\left(1 + 2\lambda\right)^{2n}}x^2 + \frac{3p^2\left(4 - p^2\right)}{8\left(1 + 2\lambda\right)^{2n}}x + \frac{9p^4\left(1 + \lambda\right)^{2n} - 16p^2\left(1 + 2\lambda\right)^{2n}}{16\left(1 + 2\lambda\right)^{2n}\left(1 + \lambda\right)^{2n}}.$$

Applying the triangle inequality, we obtain

$$\left|a_{3}^{2}-a_{2}^{2}\right| \leq \frac{\left(4-p^{2}\right)^{2}}{16\left(1+2\lambda\right)^{2n}} + \frac{3p^{2}\left(4-p^{2}\right)}{8\left(1+2\lambda\right)^{2n}} + \frac{9p^{4}\left(1+\lambda\right)^{2n}+16p^{2}\left(1+2\lambda\right)^{2n}}{16\left(1+2\lambda\right)^{2n}\left(1+\lambda\right)^{2n}} = \Psi\left(p\right)$$

Differentiating $\Psi(p)$ with respect to p, we write

$$\psi'(p) = \frac{p\left(p^{2} (1+\lambda)^{2n} + 2 (1+\lambda)^{2n} + 2 (1+2\lambda)^{2n}\right)}{(1+2\lambda)^{2n} (1+\lambda)^{2n}}$$

Setting $\Psi^{'}(p)=0$ yields either p=0 or $p^2=-\frac{2\left[(1+\lambda)^{2n}+(1+2\lambda)^{2n}\right]}{(1+\lambda)^{2n}}$. Since $\Psi^{'}(p)>0$ on $0\leq p\leq 2$ and so $\Psi\left(p\right)\leq\psi\left(2\right)$. For p=2 we have $a_2=\frac{2}{(1+\lambda)^n}$ and $a_3=\frac{3}{(1+2\lambda)^n}$ which yields

$$\left|a_3^2 - a_2^2\right| \le \left|\frac{9}{\left(1 + 2\lambda\right)^{2n}} - \frac{4}{\left(1 + \lambda\right)^{2n}}\right|.$$

Remark. For n = 0, as a special case of Theorem 3.2 we get the sharp bound as $|T_2(2)| = |a_3^2 - a_2^2| \le 5$. This result agree with bound obtained for the class of starlike function S^* by Thomas and Halim [8]

Theorem 3.3. Let $\lambda \geq 0$, and if the function f(z) be of the form (1.1) belongs to the class $M(\lambda, n)$, then

$$|T_2(3)| = |a_4^2 - a_3^2| \le \max \left\{ \frac{1}{(1+2\lambda)^{2n}}, \left| \frac{16}{(1+3\lambda)^{2n}} - \frac{9}{(1+2\lambda)^{2n}} \right| \right\}.$$

Proof. In view of (3.3) and (3.2) and applying Lemma 2.2, denoting $F = 4 - p_1^2$ and $G = (1 - |x|^2) \eta$, where $0 \le p_1 \le 2$ and $|\eta| < 1$, we get

$$a_{4}^{2} - a_{3}^{2} = \left(\frac{2p_{3} + 3p_{1}p_{2} + p_{1}^{3}}{6\left(1 + 3\lambda\right)^{n}}\right)^{2} - \left(\frac{p_{2} + p_{1}^{2}}{2\left(1 + 2\lambda\right)^{n}}\right)^{2}$$

$$= -\frac{9p_{1}^{4}}{16\left(1 + 2\lambda\right)^{2n}} + \frac{p_{1}^{6}}{4\left(1 + 3\lambda\right)^{2n}} - \frac{3p_{1}^{2}xF}{8\left(1 + 2\lambda\right)^{2n}} + \frac{5p_{1}^{4}xF}{12\left(1 + 3\lambda\right)^{2n}} - \frac{p_{1}^{4}x^{2}F}{12\left(1 + 3\lambda\right)^{2n}}$$

$$- \frac{x^{2}F^{2}}{16\left(1 + 2\lambda\right)^{2n}} + \frac{25p_{1}^{2}x^{2}F^{2}}{144\left(1 + 3\lambda\right)^{2n}} - \frac{5p_{1}^{2}x^{3}F^{2}}{72\left(1 + 3\lambda\right)^{2n}} + \frac{p_{1}^{2}x^{4}F^{2}}{144\left(1 + 3\lambda\right)^{2n}} + \frac{p_{1}^{3}FG}{6\left(1 + 3\lambda\right)^{2n}}$$

$$+ \frac{5p_{1}xF^{2}G}{36\left(1 + 3\lambda\right)^{2n}} - \frac{p_{1}x^{2}F^{2}G}{36\left(1 + 3\lambda\right)^{2n}} + \frac{F^{2}G^{2}}{36\left(1 + 3\lambda\right)^{2n}}.$$

As in the proof of Theorem 3.2, without loss of generality, we can write letting $p_1 = p$, where $0 \le p_1 \le 2$. Then an application of triangle inequality gives,

$$|a_{4}^{2} - a_{3}^{2}| \leq \frac{\left(p^{2} - 4p + 4\right)\left(4 - p^{2}\right)^{2}}{144\left(1 + 3\lambda\right)^{2n}} |x|^{4} + \frac{\left(5p^{2} - 10p\right)\left(4 - p^{2}\right)^{2}}{72\left(1 + 3\lambda\right)^{2n}} |x|^{3}$$

$$+ \frac{\left(12p^{4} - 24p^{3}\right)\left(4 - p^{2}\right)\left(1 + 2\lambda\right)^{2n}}{144\left(1 + 3\lambda\right)^{2n} p^{2} + 4\left(1 + 2\lambda\right)^{2n} p - 8\left(1 + 2\lambda\right)^{2n}} |x|^{2}}{144\left(1 + 3\lambda\right)^{2n}\left(1 + 2\lambda\right)^{2n}} |x|^{2}$$

$$+ \frac{27\left(1 + 3\lambda\right)^{2n}\left(4 - p^{2}\right)p^{2} + 30\left(1 + 2\lambda\right)^{2n}\left(4 - p^{2}\right)p^{4} + 10\left(1 + 2\lambda\right)^{2n}\left(4 - p^{2}\right)^{2}p}{72\left(1 + 3\lambda\right)^{2n}\left(1 + 2\lambda\right)^{2n}} |x|$$

$$+ \frac{\left(4 - p^{2}\right)^{2} + 6p^{3}\left(4 - p^{2}\right)}{36\left(1 + 3\lambda\right)^{2n}} + \left|\frac{p^{6}}{4\left(1 + 3\lambda\right)^{2n}} - \frac{9p^{4}}{16\left(1 + 2\lambda\right)^{2n}}\right|$$

$$= \varphi\left(p, |x|\right).$$

Now to find the maximum value of φ over the region D, differentiating φ with respect to |x|, we get

$$\frac{\partial \psi}{\partial |x|} = \frac{\left(p^2 - 4p + 4\right) \left(4 - p^2\right)^2}{36 \left(1 + 3\lambda\right)^{2n}} |x|^3 + \frac{\left(5p^2 - 10p\right) \left(4 - p^2\right)^2}{24 \left(1 + 3\lambda\right)^{2n}} |x|^2 + \left\{\frac{\left(12p^4 - 24p^3\right) \left(4 - p^2\right)}{72 \left(1 + 3\lambda\right)^{2n}} + \frac{\left[9 \left(1 + 3\lambda\right)^{2n} + 25 \left(1 + 2\lambda\right)^{2n} p^2 + 4 \left(1 + 2\lambda\right)^{2n} p - 8 \left(1 + 2\lambda\right)^{2n}\right] \left(4 - p^2\right)^2}{72 \left(1 + 3\lambda\right)^{2n} \left(1 + 2\lambda\right)^{2n}}\right\} |x| + \frac{27 \left(1 + 3\lambda\right)^{2n} \left(4 - p^2\right) p^2 + 30 \left(1 + 2\lambda\right)^{2n} \left(4 - p^2\right) p^4 + 10 \left(1 + 2\lambda\right)^{2n} \left(4 - p^2\right)^2 p}{72 \left(1 + 3\lambda\right)^{2n} \left(1 + 2\lambda\right)^{2n}}.$$

We need to find the maximum value of $\psi(p,|x|)$ on $[0,2] \times [0,1]$. First, assume that there is a maximum at an interior point $\psi(p_0,|x_0|)$ of $[0,2] \times [0,1]$. Differentiating $\psi(p,|x|)$ with respect to |x| and equating it to zero implies that $p=p_0=2$, which is a contradiction. Thus for the maximum of $\psi(p,|x|)$, we need only to consider the end points of $[0,2] \times [0,1]$. For p=0 we have

$$\psi(0,|x|) = \frac{4}{9(1+3\lambda)^{2n}} |x|^4 + \frac{\left[9(1+3\lambda)^{2n} - 8(1+2\lambda)^{2n}\right]}{9(1+3\lambda)^{2n} (1+2\lambda)^{2n}} |x|^2 + \frac{4}{9(1+3\lambda)^{2n}} \le \frac{1}{(1+2\lambda)^{2n}}.$$

For p=2 we obtain

$$\psi(2,|x|) = \left| \frac{16}{(1+3\lambda)^{2n}} - \frac{9}{(1+2\lambda)^{2n}} \right|$$

For |x| = 0 we have

$$\psi(p,0) = \frac{\left(4 - p^2\right)^2 + 6p^3\left(4 - p^2\right)}{36\left(1 + 3\lambda\right)^{2n}} + \left|\frac{p^6}{4\left(1 + 3\lambda\right)^{2n}} - \frac{9p^4}{16\left(1 + 2\lambda\right)^{2n}}\right|$$

which has the maximum value $\left| \frac{16}{(1+3\lambda)^{2n}} - \frac{9}{(1+2\lambda)^{2n}} \right|$ on [0,2].

For |x| = 1we obtain

$$\psi(p,1) = \frac{\left(p^2 - 4p + 4\right)\left(4 - p^2\right)^2}{144\left(1 + 3\lambda\right)^{2n}} + \frac{\left(5p^2 - 10p\right)\left(4 - p^2\right)^2}{72\left(1 + 3\lambda\right)^{2n}} + \frac{\left(12p^4 - 24p^3\right)\left(4 - p^2\right)}{144\left(1 + 3\lambda\right)^{2n}} + \frac{\left[9\left(1 + 3\lambda\right)^{2n} + 25\left(1 + 2\lambda\right)^{2n}p^2 + 4\left(1 + 2\lambda\right)^{2n}p - 8\left(1 + 2\lambda\right)^{2n}\right]\left(4 - p^2\right)^2}{144\left(1 + 3\lambda\right)^{2n}\left(1 + 2\lambda\right)^{2n}} + \frac{27\left(1 + 3\lambda\right)^{2n}\left(4 - p^2\right)p^2 + 30\left(1 + 2\lambda\right)^{2n}\left(4 - p^2\right)p^4 + 10\left(1 + 2\lambda\right)^{2n}\left(4 - p^2\right)^2p}{144\left(1 + 3\lambda\right)^{2n}\left(1 + 2\lambda\right)^{2n}} + \frac{\left(4 - p^2\right)^2 + 6p^3\left(4 - p^2\right)}{36\left(1 + 3\lambda\right)^{2n}} + \left|\frac{p^6}{4\left(1 + 3\lambda\right)^{2n}} - \frac{9p^4}{16\left(1 + 2\lambda\right)^{2n}}\right|$$

which has the maximum value $\left|\frac{16}{(1+3\lambda)^{2n}} - \frac{9}{(1+2\lambda)^{2n}}\right|$ for p=2 and $\frac{1}{(1+2\lambda)^{2n}}$ for p=0.

Remark. For n = 0, as a special case of Theorem 3.3 we get the sharp bound as $|T_2(3)| = |a_4^2 - a_3^2| \le 7$. This result agree with bound obtained for the class of starlike function S^* by Thomas and Halim [8].

Theorem 3.4. Let $\lambda \geq 0$, and if the function f(z) be of the form (1.1) belongs to the class $M(\lambda, n)$, then

$$|T_3(2)| \leq \delta_1.\delta_2$$
,

where

$$\delta_1 = \max \left\{ \frac{2}{(1+2\lambda)^{2n}}, \left| \frac{4}{(1+\lambda)^{2n}} - \frac{18}{(1+2\lambda)^{2n}} + \frac{8}{(1+\lambda)^n (1+3\lambda)^n} \right| \right\},\,$$

and

$$\delta_2 = \max \frac{2}{(1+\lambda)^n} \left\{ \frac{1}{3} \left(\frac{1+\lambda}{1+3\lambda} \right)^n, \left| 1 - 2 \left(\frac{1+\lambda}{1+3\lambda} \right)^n \right| \right\}.$$

Proof. With a simple calculation, we can write

$$|T_3(2)| = \begin{vmatrix} a_2 & a_3 & a_4 \\ a_3 & a_2 & a_3 \\ a_4 & a_3 & a_2 \end{vmatrix} = |(a_2 - a_4)(a_2^2 - 2a_3^2 + a_2a_4)|$$

Now, let's first calculation to expression $|a_2 - a_4|$. In view of (3.1) and (3.3), we obtain

$$a_2 - a_4 = \frac{p_1}{(1+\lambda)^n} - \frac{p_3}{3(1+3\lambda)^n} - \frac{p_1p_2}{2(1+3\lambda)^n} - \frac{p_1^3}{6(1+3\lambda)^n}.$$

Using Lemma 2.2 to express p_2 and p_3 in terms of p_1 , we obtain ,with $F = 4 - p_1^2$ and $G = (1 - |x|^2) \eta$, we have

$$a_2 - a_4 = \frac{p_1}{(1+\lambda)^n} - \frac{1}{(1+3\lambda)^n} \left\{ \frac{p_1^3}{2} + \frac{5p_1xF}{12} - \frac{p_1x^2F}{12} + \frac{FG}{6} \right\}.$$

In this last expression, if $0 \le p_1 = p \le 2$ is taken and the triangle inequality is used, we write

$$|a_2 - a_4| \le \left| \frac{p}{\left(1 + \lambda\right)^n} - \frac{p^3}{2\left(1 + 3\lambda\right)^n} \right| + \frac{5p(4 - p^2)}{12\left(1 + 3\lambda\right)^n} |x| + \frac{(4 - p^2)p}{12\left(1 + 3\lambda\right)^n} |x|^2 + \frac{(4 - p^2)\left(1 - |x|^2\right)}{6\left(1 + 3\lambda\right)^n} \Rightarrow$$

$$|a_2 - a_4| \le \frac{(p-2)(4-p^2)}{12(1+3\lambda)^n} |x|^2 + \frac{5p(4-p^2)}{12(1+3\lambda)^n} |x| + \frac{4-p^2}{6(1+3\lambda)^n} + \left| \frac{p}{(1+\lambda)^n} - \frac{p^3}{2(1+3\lambda)^n} \right|$$

$$= \Phi(p,|x|).$$

Differentiating $\Phi(p, |x|)$ with respect to |x|, we get

$$\frac{\partial \Phi}{\partial |x|} = \frac{5p\left(4 - p^2\right)}{12\left(1 + 3\lambda\right)^n} + \frac{p|x|\left(4 - p^2\right)}{6\left(1 + 3\lambda\right)^n} - \frac{\left(4 - p^2\right)|x|}{3\left(1 + 3\lambda\right)^n}.$$

We need to find the maximum value of $\Phi(p,|x|)$ on $[0,2] \times [0,1]$. First, assume that there is a maximum at an interior point $\Phi(p_0,|x_0|)$ of $[0,2] \times [0,1]$. Differentiating $\Phi(p,|x|)$ with respect to |x| and equating it to zero implies that $p=p_0=2$, which is a contradiction. Thus for the maximum of $\Phi(p,|x|)$, we need only to consider the end points of $[0,2] \times [0,1]$. For p=0 we obtain

$$\Phi(0,|x|) = -\frac{2}{3(1+3\lambda)^n} |x|^2 + \frac{2}{3(1+3\lambda)^n} \le \frac{2}{3(1+3\lambda)^n}$$

For p=2 we have

$$\Phi(2,|x|) = \left| \frac{2}{(1+\lambda)^n} - \frac{4}{(1+3\lambda)^n} \right| = \frac{2}{(1+\lambda)^n} \left| 1 - 2\left(\frac{1+\lambda}{1+3\lambda}\right)^n \right|.$$

For |x| = 0we obtain

$$\Phi(p,0) = \frac{4 - p^2}{6(1 + 3\lambda)^n} + \left| \frac{p}{(1 + \lambda)^n} - \frac{p^3}{2(1 + 3\lambda)^n} \right|$$

which has maximum value

$$\Phi(p,0) = \left| \frac{2}{(1+\lambda)^n} - \frac{4}{(1+3\lambda)^n} \right| = \frac{2}{(1+\lambda)^n} \left| 1 - 2\left(\frac{1+\lambda}{1+3\lambda}\right)^n \right|$$

attained at the point p=2...

For |x| = 1 we obtain

$$\Phi\left(p,1\right) = \frac{(p-2)(4-p^2)}{12\left(1+3\lambda\right)^n} + \frac{5p(4-p^2)}{12\left(1+3\lambda\right)^n} + \frac{4-p^2}{6\left(1+3\lambda\right)^n} + \left|\frac{p}{\left(1+\lambda\right)^n} - \frac{p^3}{2\left(1+3\lambda\right)^n}\right|$$

Which has maximum value $\Phi(p,1) = 0$ at p = 0, and

$$\Phi(p,1) = \left| \frac{2}{(1+\lambda)^n} - \frac{4}{(1+3\lambda)^n} \right| = \frac{2}{(1+\lambda)^n} \left| 1 - 2\left(\frac{1+\lambda}{1+3\lambda}\right)^n \right|$$

at p=2. Hence

$$|a_2 - a_4| \le \max \left\{ \frac{2}{3(1+3\lambda)^n}, \frac{2}{(1+\lambda)^n} \left| 1 - 2\left(\frac{1+\lambda}{1+3\lambda}\right)^n \right| \right\} \Rightarrow$$

$$|a_2 - a_4| \le \max \frac{2}{(1+\lambda)^n} \left\{ \frac{1}{3} \left(\frac{1+\lambda}{1+3\lambda} \right)^n, \left| 1 - 2 \left(\frac{1+\lambda}{1+3\lambda} \right)^n \right| \right\}.$$

In view of (3.1), (3.2) and (3.3), we write

$$a_2^2 - 2a_3^2 + a_2 a_4 = \left(\frac{p_1}{(1+\lambda)^n}\right)^2 - 2\left(\frac{p_2 + p_1^2}{2(1+2\lambda)^n}\right)^2 + \left(\frac{p_1}{(1+\lambda)^n}\right)\left(\frac{2p_3 + 3p_1p_2 + p_1^3}{6(1+3\lambda)^n}\right).$$

Using Lemma 2.2 to express p_2 and p_3 in terms of p_1 , we obtain ,with $F = 4 - p_1^2$ and $G = (1 - |x|^2) \eta$, we have

$$a_{2}^{2} - 2a_{3}^{2} + a_{2}a_{4} = \frac{p_{1}^{2}}{(1+\lambda)^{2n}} - \frac{p_{1}^{4}}{8(1+2\lambda)^{2n}} - \frac{p_{1}^{2}xF}{4(1+2\lambda)^{2n}} - \frac{x^{2}F^{2}}{8(1+2\lambda)^{2n}} - \frac{p_{1}^{4}}{2(1+2\lambda)^{2n}}$$

$$- \frac{p_{1}^{2}xF}{2(1+2\lambda)^{2n}} - \frac{p_{1}^{4}}{2(1+2\lambda)^{2n}} + \frac{p_{1}^{4}}{12(1+\lambda)^{n}(1+3\lambda)^{n}} + \frac{p_{1}^{2}xF}{6(1+\lambda)^{n}(1+3\lambda)^{n}}$$

$$- \frac{p_{1}^{2}Fx^{2}}{6(1+\lambda)^{n}(1+3\lambda)^{n}} + \frac{p_{1}FG}{6(1+\lambda)^{n}(1+3\lambda)^{n}} + \frac{p_{1}^{4}}{4(1+\lambda)^{n}(1+3\lambda)^{n}}$$

$$+ \frac{p_{1}^{2}xF}{4(1+\lambda)^{n}(1+3\lambda)^{n}} + \frac{p_{1}^{4}}{6(1+\lambda)^{n}(1+3\lambda)^{n}}.$$

Choosing $p_1 = p \in [0, 2]$, applying triangle inequality and simplifying, we obtain

$$\begin{aligned} \left| a_2^2 - 2a_3^2 + a_2 a_4 \right| & \leq \left[\frac{\left(4 - p^2\right)^2}{8\left(1 + 2\lambda\right)^{2n}} + \frac{\left(p^2 - 2p\right)\left(4 - p^2\right)}{12\left(1 + \lambda\right)^n\left(1 + 3\lambda\right)^n} \right] \left| x \right|^2 \\ & + \left[\frac{5}{12\left(1 + \lambda\right)^n\left(1 + 3\lambda\right)^n} - \frac{3}{4\left(1 + 2\lambda\right)^{2n}} \right] p^2 \left(4 - p^2\right) \left| x \right| + \frac{p\left(4 - p^2\right)}{6\left(1 + \lambda\right)^n\left(1 + 3\lambda\right)^n} \\ & + \left| \frac{p^2}{\left(1 + \lambda\right)^{2n}} - \frac{9p^4}{8\left(1 + 2\lambda\right)^{2n}} + \frac{p^4}{2\left(1 + \lambda\right)^n\left(1 + 3\lambda\right)^n} \right| \\ & = \Gamma\left(p, |x|\right) \end{aligned}$$

We need to find the maximum value of $\Gamma(p,|x|)$ on $[0,2] \times [0,1]$. First, assume that there is a maximum at an interior point $\Gamma(p_0,|x_0|)$ of $[0,2] \times [0,1]$. Differentiating $\Gamma(p,|x|)$ with respect to |x| and equating it to zero implies that $p=p_0=2$, which is a contradiction. Thus for the maximum of $\Gamma(p,|x|)$, we need only to consider the end points of $[0,2] \times [0,1]$. For p=0 we obtain

$$\Gamma(0,|x|) = \frac{2}{(1+2\lambda)^{2n}} |x|^2 \le \frac{2}{(1+2\lambda)^{2n}}$$

For p = 2 we have

$$\Gamma(2, |x|) = \left| \frac{4}{(1+\lambda)^{2n}} - \frac{18}{(1+2\lambda)^{2n}} + \frac{8}{(1+\lambda)^n (1+3\lambda)^n} \right|$$

For |x| = 0 we obtain

$$\Gamma(p,0) = \frac{p(4-p^2)}{6(1+\lambda)^n(1+3\lambda)^n} + \left| \frac{p^2}{(1+\lambda)^{2n}} - \frac{9p^4}{8(1+2\lambda)^{2n}} + \frac{p^4}{2(1+\lambda)^n(1+3\lambda)^n} \right|$$

which has maximum

$$\Gamma(p,0) = \left| \frac{4}{(1+\lambda)^{2n}} - \frac{18}{(1+2\lambda)^{2n}} + \frac{8}{(1+\lambda)^n (1+3\lambda)^n} \right|$$

on [0, 2].

For |x| = 1we obtain

$$\begin{split} &\Gamma\left(p,1\right) = \left[\frac{\left(4-p^2\right)^2}{8(1+2\lambda)^{2n}} + \frac{\left(p^2-2p\right)\left(4-p^2\right)}{12(1+\lambda)^n(1+3\lambda)^n}\right] + \left[\frac{5}{12(1+\lambda)^n(1+3\lambda)^n} - \frac{3}{4(1+2\lambda)^{2n}}\right]p^2\left(4-p^2\right) \\ &+ \frac{p\left(4-p^2\right)}{6(1+\lambda)^n(1+3\lambda)^n} + \left|\frac{p^2}{(1+\lambda)^{2n}} - \frac{9p^4}{8(1+2\lambda)^{2n}} + \frac{p^4}{2(1+\lambda)^n(1+3\lambda)^n}\right| \end{split}$$

which has maximum value $\Gamma\left(p,1\right)=\frac{2}{(1+2\lambda)^{2n}}$ for p=0 and $\Gamma\left(p,1\right)=\left|\frac{4}{(1+\lambda)^{2n}}-\frac{18}{(1+2\lambda)^{2n}}+\frac{8}{(1+\lambda)^{n}(1+3\lambda)^{n}}\right|$ for p=2.

Thus, we have

$$\left| a_2^2 - 2a_3^2 + a_2 a_4 \right| \le \max \left\{ \frac{2}{(1+2\lambda)^{2n}}, \left| \frac{4}{(1+\lambda)^{2n}} - \frac{18}{(1+2\lambda)^{2n}} + \frac{8}{(1+\lambda)^n (1+3\lambda)^n} \right| \right\}.$$

If expressed as

$$\left|a_2^2 - 2a_3^2 + a_2 a_4\right| \le \max\left\{\frac{2}{\left(1 + 2\lambda\right)^{2n}}, \left|\frac{4}{\left(1 + \lambda\right)^{2n}} - \frac{18}{\left(1 + 2\lambda\right)^{2n}} + \frac{8}{\left(1 + \lambda\right)^n \left(1 + 3\lambda\right)^n}\right|\right\} = \delta_1$$

and

$$|a_2 - a_4| \le \max \frac{2}{\left(1 + \lambda\right)^n} \left\{ \frac{1}{3} \left(\frac{1 + \lambda}{1 + 3\lambda} \right)^n, \left| 1 - 2 \left(\frac{1 + \lambda}{1 + 3\lambda} \right)^n \right| \right\} = \delta_2,$$

we obtain

$$|T_3\left(2\right)| = \left|\left(a_2 - a_4\right)\left(a_2^2 - 2a_3^2 + a_2a_4\right)\right| = \left|a_2 - a_4\right|\left|a_2^2 - 2a_3^2 + a_2a_4\right| \le \delta_1.\delta_2.$$

Remark. For n = 0, we get the sharp bound as

$$|T_3(2)| = |(a_2 - a_4)(a_2^2 - 2a_3^2 + a_2a_4)| \le 12.$$

Theorem 3.5. Let $\lambda \geq 0$, and if the function f(z) be of the form (1.1) belongs to the class $M(\lambda, n)$, then

$$|T_3(1)| \le \max \left\{ 1 + \frac{1}{(1+2\lambda)^n}, \left| 1 + \frac{24(1+2\lambda)^{2n} - 9(1+\lambda)^{2n} - 8(1+2\lambda)^{2n}}{(1+\lambda)^{2n}(1+2\lambda)^n} \right| \right\}$$

Proof. With a simple calculation, we can write

$$T_3(1) = \begin{vmatrix} 1 & a_2 & a_3 \\ a_2 & 1 & a_2 \\ a_3 & a_2 & 1 \end{vmatrix} = 1 - a_2^2 + a_3 a_2^2 - a_2^2 + a_3 a_2^2 - a_3^2 = 1 - 2a_2^2 (a_3 - 1) - a_3^2.$$

Expanding the determinant by using equations (3.1) and (3.2) and applying Lemma 2.2, with $F=4-p_1^2$, we write

$$T_{3}(1) = 1 + 2a_{2}^{2}(a_{3} - 1) - a_{3}^{2} = 1 + 2\left(\frac{p_{1}}{(1+\lambda)^{n}}\right)^{2} \left[\frac{p_{2} + p_{1}^{2}}{2(1+2\lambda)^{n}} - 1\right] - \left(\frac{p_{2} + p_{1}^{2}}{2(1+2\lambda)^{n}}\right)^{2}$$

$$= 1 + \frac{24(1+2\lambda)^{n} - 9(1+\lambda)^{2n}}{16(1+\lambda)^{2n}(1+2\lambda)^{2n}} p_{1}^{4} - \frac{2}{(1+\lambda)^{2n}} p_{1}^{2} + \frac{4(1+2\lambda)^{n} - 3(1+\lambda)^{2n}}{8(1+\lambda)^{2n}(1+2\lambda)^{2n}} p_{1}^{2} x F$$

$$- \frac{x^{2}F^{2}}{16(1+2\lambda)^{2n}}$$

Without loss of generality, we let $0 \le p_1 = p \le 2$. Now substituting this into the above equation and applying the triangle inequality, we obtain the following quadratic equation in terms of x.

$$|T_{3}(1)| \leq \frac{(4-p^{2})^{2}}{16(1+2\lambda)^{2n}} + \frac{4(1+2\lambda)^{n}+3(1+\lambda)^{2n}(4-p^{2})p^{2}}{8(1+\lambda)^{2n}(1+2\lambda)^{2n}} + \left[1 + \frac{\left[24(1+2\lambda)^{n}+9(1+\lambda)^{2n}\right]p^{2}+32(1+2\lambda)^{2n}}{16(1+\lambda)^{2n}(1+2\lambda)^{2n}}p^{2}\right]$$

$$= \Theta(p,\lambda)$$

Differentiating $\Theta(p,\lambda)$ with respect to p we obtain

$$\frac{\partial\Theta}{\partial p} = \frac{p\left[p^2\left((1+\lambda)^{2n} + 4(1+2\lambda)^n\right) + 2(1+\lambda)^{2n} + 4(1+2\lambda)^n + 4(1+2\lambda)^{2n}\right]}{(1+\lambda)^{2n}(1+2\lambda)^{2n}}$$

Equating to 0 we have $\frac{\partial \Theta}{\partial p} = 0 \Rightarrow p = 0$ and

$$p^{2} = -\frac{2(1+\lambda)^{2n} + 4(1+2\lambda)^{n} + 4(1+2\lambda)^{2n}}{(1+\lambda)^{2n} + 4(1+2\lambda)^{n}}.$$

Since $\Theta'(p) > 0$ on $0 \le p_1 = p \le 2$ and so $\Theta(p) \le \Theta(2)$. For $p_1 = 0$ we have

$$|T_3(1)| \le \left| 1 + \frac{24(1+2\lambda)^{2n} - 9(1+\lambda)^{2n} - 8(1+2\lambda)^{2n}}{(1+\lambda)^{2n}(1+2\lambda)^n} \right|.$$

Remark. For n = 0, we get the sharp bound as $|T_3(1)| = |1 + 2a_2^2(a_3 - 1) - a_3^2| \le 8$

Acknowledgments. The authors thank to the referee for valuable comments and fruitful suggestions which enhanced the readability of the paper.

References

- C. Caratheodory, Uber den variabilitatsbereich der Fourier'schen Konstanten Von Positiven harmonischen, Rend. Circ. Mat. Palermo. 32 (1911), 193–217.
- [2] Ch.Pommerenke, On the coefficients and Hankel determinants of univalent functions, J. London Math. Soc. 41 (1966), 111–122.
- [3] Ch.Pommerenke, On the Hankel determinants of univalent functions, Mathematika 14 (1967), 108–112.
- [4] Ch. Pommerenke, *Univalent Functions*, Studia Mathematica/Mathematische Lehrbucher, Vandenhoeck & Ruprecht, Gottingen, (1975), vol. 25.
- [5] C. Ramachandran, D. Kavitha, Toeplitz determinant for Some Subclasses of Analytic Functions, Global J. of Pure and Appl. Math. 13 2 (2017), 785-793.
- [6] D. Bansal, Upper bound of second Hankel determinant for a new class of analytic functions, Applied Mathematics Letters, 26 1 (2013), 103-107.
- [7] D. Bansal, S. Maharana, J. K. Prajapat, Third order Hankel determinant for certain univalent functions, Journal of the Korean Mathematical Society, 52 6 (2015), 1139-1148.
- [8] D. K. Thomas, S. Abdul Halim, Toeplitz Matrices Whose Elements are the Coefficients of starlike and Close-to-Convex Functions, Bull. Malays. Math. sci. Soc. (2016), 193–217.
- [9] D. K. Thomas, S. Abdul Halim, Retracted article: Toeplitz matrices whose elements are the coefficients of starlike and close-to-convex functions, Bull. Malays. Math.Sci. Soc. 40 4 (2017), 1781-1790.

Ш

- [10] F. M. Al-Oboudi, On univalent functions defined by a generalized Salagean operator, Indian J. Math. Sci. 25 28 (2004), 1429-1436.
- [11] F. Fekete, G. Szegö, Eine Bemerkung Über Ungerade schlichte Funktionen, Journal of the London mathematical society 1-8 2 (1933), pp. 85-89.
- [12] F. Keough, E. Merkes, A coefficient inequality for certain subclasses of analytic functions, Proc. Amer. Math. Soc. 20 (1969), 8–12.
- [13] Gr. Şt. Salagean, Subclasses of Univalent Functions, Lecture Notes in Mathematics, Springer-Verlag, Berlin, 1013 (1983), pp. 362-372.
- [14] I. O. Oros, G. Oros, On a class of univalent functions defined by a generalized Salagean operator, Complex Variables and Elliptic Equations 53 9 (2008), 869-877.
- [15] J. Libera, E. J. Zlotkiewicz, Early coefficients of the inverse of a regular convex function, Proc. Amer. Math. Soc. 85 2 (1982), 225–230.
- [16] J. Libera, E. J. Zlotkiewicz, Coefficient bounds for the inverse of a function with derivative in P., Proc. Amer. Math. Soc. 87 2 (1983), 251–257.
- [17] K. O. Babalola, On H₃ (1) Hankel determinant for some classes of univalent functions, In Inequality Theory and Applications, Y. J. Cho, J. K. Kim and S. S. Dragomir, Eds., University of Ilorin, 6 (2010), pp. 1-7.
- [18] K. Ye, L. H. Lim, Every matrix is a product of Toeplitz matrices, Foundations of Computational Mathematics 16 3 (2016), 577–598.
- [19] L. Shi, H. M. Srivastava, M. Arif, S. Hussain, H. Khan, An investigation of the third Hankel determinant problem for certain subfamilies of univalent functions involving the exponential function, Symmetry 11 5 (2019), p. 598.
- [20] M. Arif, M. Raza, H. Tang, S. Hussain, H. Khan, Hankel determinant of order three for familiar subsets of analytic functions related with sine function, Open Math. 17 (2019), 1615-1630.
- [21] P. L. Duren, Univalent functions, Graduate texts in mathematics, Springer-Verlag, (1983), New York Inc. New York.
- [22] R. O. B Ayinla, A. Risikat, Toeplitz determinants for a Subclass of Analytic Functions, Journal of Progressive Research in Mathematics 18 1 (2021), 99-106.
- [23] S. Janteng, A. Halim, and M. Darus, Hankel determinant for starlike and convex functions, International Journal of Math. Analysis 13 1 (2007), 619-625.
- [24] S. K. Lee, V.Ravichandran, S. Supramaniam, Bounds for the second Hankel determinant of certain univalent functions, Journal of inequalities and Applications 2013 1 (2013), Article ID 729.
- [25] V. Radhika, J. M. Jahangiri, S. Sivasubramanian, G. Murugusundaramoorthy, Toeplitz matrices whose elements are coefficients of Bazilevic functions, Open Math. 16 (2018), 1161-1169.

Muhammet Kamali

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCES, KYRGYZ-TURKISH MANAS UNIVERSITY, CHYNGZ AITMATOV AVENUE, BISHKEK, KYRGYZ REPUBLIC

E-mail address: muhammet.kamali@manas.edu.kg

Alina Riskulova

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCES, KYRGYZ-TURKISH MANAS UNIVERSITY, CHYNGZ AITMATOV AVENUE, BISHKEK, KYRGYZ REPUBLIC

 $E\text{-}mail\ address{:}\ \texttt{alinka.ryskulova97@gmail.com}$